Козина Наталья Алексеевна                                                                                  МБОУ «Саскалинская СОШ»                           

Карточки по математике для учащихся 5 - 6 классов
Тема: Действия с натуральными числами
Задания.
1. А1 + А2 : 5 + А3 – А4 : 2 + А5 : 10 =
2. Б2 : 5 + Б4 : 2 + Б5 : 10 – Б1 + Б3 =
3. (В1 + В3) + В4 : 2 + В2 : 5 - В5 : 10 =
4. Г2 : 5 + Г5 : 10 + Г3 - Г4 : 2 – Г1 =
Карточки. 
1.
	
	1
	2
	3
	4
	5

	А
	49
	735
	833
	294
	4410

	Б
	57
	855
	741
	342
	5130

	В
	83
	1245
	913
	498
	7470

	Г
	38
	570
	1406
	228
	3420



     2. 
        
	
	1
	2
	3
	4
	5

	А
	81
	1215
	1053
	486
	7290

	Б
	37
	555
	1369
	222
	3330

	В
	42
	630
	462
	252
	3780

	Г
	93
	1395
	1581
	558
	8370


 
    3.
       
	
	1
	2
	3
	4
	5

	А
	73
	1095
	1241
	438
	6570

	Б
	97
	1455
	3589
	582
	8730

	В
	46
	690
	506
	276
	4140

	Г
	39
	585
	507
	234
	3510




   4. 
	
	1
	2
	3
	4
	5

	А
	33
	495
	1221
	198
	2970

	Б
	47
	705
	799
	282
	4230

	В
	94
	1410
	1034
	5640
	8460

	Г
	87
	1305
	1131
	522
	7830



   5.
	
	1
	2
	3
	4
	5

	А
	43
	645
	559
	258
	3870

	Б
	89
	1335
	1513
	534
	8010

	В
	63
	945
	693
	378
	5670

	Г
	24
	360
	888
	144
	2160



Решения.
Карточка 1.
1. 49 + 735 : 5 + 833 – 294 : 2 + 4410 : 10 = 1323
2. 855 : 5 + 342 : 2 + 5130 : 10 – 57 – 741 = 1539
3. (83 + 913) – 498 : 2 + 1245 : 5 + 7470 : 10 = 747
4. 570 : 5 + 3420 : 10 – 1406 + 228 : 2 – 38 = 1710

Карточка 2.
1. 81 + 1215 : 5 + 1053 – 486 : 2 + 7290 : 10 = 1863
2. 555 : 5 + 222 : 2 + 3330 : 10 – 37 1369 = 1887
3. (42 + 462) – 252 : 2 + 630 : 5 + 3780 : 10 = 378
4. [bookmark: _GoBack]1395 : 5 + 8370 : 10 – 1581 + 558 : 2 – 93 = 2325
Карточка 3.
1. 730 + 1095 : 5 + 1241 – 438 : 2 + 6570 : 10 = 1971
2. 1455 : 5 + 582 : 2 + 8730 : 10 – 97 – 3589 = 4947
3. (46 + 506) – 276 : 2 + 690 : 5 + 4140 : 10 = 414
4. 585 : 5 + 3510 : 10 – 507 + 234 : 2 – 39 = 819
Карточка 4.
1. 33 + 495 : 5 + 1221 – 198 : 2 + 2970 : 10 = 1551
2. 705 : 5 + 282 : 2 + 4230 : 10 – 47 – 799 = 1457
3. (94 + 1034) – 5440 : 2 + 1410 : 5 + 8460 : 10 = 4412
4. 1305 : 5 + 7830 : 10 – 1131 + 522 : 2 – 87 = 1827

Карточка 5.
1. 43 + 645 : 5 + 559 – 258 : 2 + 3870 : 10 = 989
2. 1335 : 5 + 534 : 2 + 8010 : 10 – 89 – 1513 = 2759
3. (63 + 693) – 378 : 2 + 945 : 5 + 5670 : 10= 567
4. 360 : 5 + 2160 : 10 – 888 + 144 : 2 – 24 = 1080



